LO: To be able to use scale factors (bronze) - answers

1a. Enlarge this shape by a scale factor
of 3.

S5cm

3Jcm

15cm

9cm

%

Not to scals

1b. This shape has been enlarged by a
scale factor of 3. Find the perimeter of the
original shape.

12cm

sdcm

P=12cm

Not to scale

T

2a. Rebecca says,

A scale factor of two
means you multiply
each side of the original
shape by two.

Iz she correct?

¢

Yes, because...

2b. Lavurie says,

= 3 { If | enlarge the shape by a J

scale factor of 3, the new
perimeter will be S54cm.

7cm

2cm

Is he comect? Explain your answer.

7:“\3 Yes, 21cm+6cm+21cm+6cm =54cm

3 . a) Explain what it means for o shops to be enlarged by o scole
factor of 2

You multiply all the sides of the

shape bv 2.

b) Enlarge the shopes by a scale foctor of 2

[
=

4. Complete the sentence,

A shape in which each side hos tripled in size hos been enlorged by

o scale factor of| 3

5.

The sides of the rectangle are increosed by o scole foctor of 2

Whiat is the perimeter of the new shape?

1em

—
I1 m

32

cm



LO: To be able to use scale factors (silver) - answers

Enlarge by a scale factorof 3 | 2.

4.

Enlarge by a scale factor of 4

| Enlarge by a scale factor of 2

Fill in the measurements for the scale factor given.

12

1)
2 - 6

Scale Factor = 3

o al\-" 8 '\ 20

4 L \\

16

Scale Factor = 4

S5a. Enlarge this shape by a scale factor
of 2,

Not to s 13

Y

Sb. Ciara savys,

- a? il enlarge the shape by a
e

scale factor of 4, the new
perimeter would be 80cm.

3.2cm

2.8cm

Is she correct? | No, 12.8+11.2+12.8+11.2=48

sb. This triangle was enlarged by a scale
factor of three.

ba. Jake says,

A scale factor of 3.5
means you multiply
each side of the criginal

e shape by 3.5.

Is he comrect?

1¢

Yes

AL &.b6cm

C. 9.3cm

What were the measurements of the

original friangle?
4.3, 3.1, 2.2

MNot to scale

w | 527




LO: To be able to use scale factors (gold)-answers

Find the scale factor of enlargement from A to B in each diagram below:

1. 3.
N /N /—\
Answer 2 Answear 1.5
) 7 /\ ry I [
E
Answer | 4 | Answer 2

The shape has been enlarged by o soale foctor of 1.5.

Fill in the dimensions of the new shops.

22.5cm

15 o

12cm

.

10 cm
15cm

Trigngle & has been enlorged by o scale foctor of & to maoke
triangle B.

Find the perimeter of each triangle.

14 km ;‘; .: 75 km

perimeter of A=| 44cm perimeter of B{ 220Ccm

7a. This square has been enlarged by a
scale factor of 4. Find the perimeter of the
original shape.

12.08cm

P=12.08cm

Not to scale Ps

8a. Ashleigh says,
If | enlarge the shape by a
scale factor of 3.5, the new
- area will be 112.7¢cm?.

4.46cm

2cm

Is she comrect? Explain your answer.
Yes -16.1 x 7 = 112.7cm?




